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Put a Ring on It

Measure the circumference of a tree and calculate its age using its circumference.

Measuring tape, pencil, paper, clipboard and a calculator.

Trees are an important part of our natural environment. This activity will show you how to
measure the circumference of a tree trunk. You will use this measurement to calculate the age of
the tree in years.

1. Finding the height of 1500 mm

Identify a tree that you are going to measure.

Place the end of the measuring tape (0 mm) at the
base of the trunk.

Measure upwards to find the point where the trunk is
roughly 1500 mm high.
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Activity title: Put a Ring on It

2. Measuring the circumference of tree

e Place the end of the measuring tape (0 mm) at any
point on the tree trunk at the height of 1500 mm.

s e Wrap the measuring tape around the trunk, holding
the end in place.

e At the point where the tape meets the end again, read
the measurement in mm. This is the circumference of
the tree.

3. Work out the age of the tree

of the tree.

Circumference
measurement

N

Yy

1500
mm

e \Write down the measurement of the circumference of the tree in mm in the table below.
e Every 25 mm is one year’s growth. So, divide your measurement by 25 to find the age

Measurement, mm

Age, years

(9

W00

4
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For an example of how to
work out the age of a tree:

1. Monumenta\ trees — How to
measure tree circumference:

Exp\anat'\on with diagrams showing
how to measure the c'\rcumference of
different trees.
httgs:/lwww.monumenta\tre K
cumference

content/ measur'\ngcir |

1. Calcul
ate the a
5 Conv ges of seve i
ort th ral differ
e values measured in err)\nitnttLegs and work out the mea
m and m. h average.

Identify th [
e main
parts of a tree and explain their f
eir function

For some examples of

how trees age and

change through the

ns:

Bitesize class clips - The

lifecycle and inhabitants of

an oak tree: \ideos showing
ges and

theiet.org/education

@IETeducation



https://www.bbc.co.uk/bitesize/clips/z6bvr82
https://www.bbc.co.uk/bitesize/clips/z6bvr82
https://www.monumentaltrees.com/en/content/measuringcircumference/
https://www.monumentaltrees.com/en/content/measuringcircumference/
http://www.tree-guide.com/tree-age-calculator
http://www.tree-guide.com/tree-age-calculator
http://www.tree-guide.com/tree-age-calculator

—

Activity title: Put a Ring on It

For example, an Oak tree with a circumference measurement of 1000 mm is approximately 40
years old:

Circumference of tree divided by 25 = age of tree

1000 = 40 years old
25
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